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1.(1,5) To obtain empirical evidence on the Ricardian model, MacDougal considered three relations: the relation between the US and the UK productivity in 20 different industries; the relation between the value of US and UK exports in those 20 industries; and the fact that, at the time, the US wage was twice the UK wage.

a) Explain how the test performed by MacDougal was constructed.

b) Did his results support the Ricardian model? Explain.

2.In the context of the Ricardian model, consider the following matrix indicating the number of labour hours needed to produce one unit of the two mentioned goods:
Computers
Coats

Portugal
     5

  20

Germany
     1

  10

a)(1,5) In a pure exchange economy, and assuming that none of the countries is “large”, what will happen to the relative price of computers in the international market compared to its relative price in autarky in Portugal and in Germany? Explain the mechanisms that lead up to your answers.

b)(1,5) Assume that the relative price of computers in the international market is 0.2. Compared with autarky, calculate the number of hours of work saved by Germany and by Portugal per each unit of the good they import.
c)(1,5) Imagine that both countries produce another good – autos - with a unit cost of 2 hours of work in each country. Furthermore, suppose that there is a transport cost for each of the three goods of 0,1 hour of work per unit and that the Portuguese wage is equal to ¼ of the German wage.

Which will be the pattern of trade between the two countries? Explain.
3. a) (1,0) What is the effect of international trade on the demand curves directed to manufacturing firms that sell their goods on monopolistically competitive markets? Explain.
(1,0) b) Consider a US firm selling its product in imperfectly competitive markets both in the US and in France. It is very likely that this US firm has an incentive to set a lower price for its product in France than in the US. Why? 
4. (2,0) Consider the trade between developed countries specialized in capital intensive goods and developing countries specialized in labour intensive goods. Which is the predicted effect of this trade on the real wages in these two groups of countries? Explain.
5. (2,0) In 2008, the price of oil rose sharply, having reached an historical maximum of $145 per barrel in July of that year. At the time, Sarkozy defended that the EU should reduce its tariffs on oil. However, if we consider the significant size of the EU in the world economy, we easily understand that Sarkozy was forgetting one important effect that measure would generate. Which effect? Explain.

6. (2,0) a) What is the impact of a subsidy to exports by a small country on the international price of the exported good? Explain.

b) And on the price of the subsidized good in the domestic market? Explain.

7. Less Developed Countries have attempted to stabilize the export revenues associated with some specific goods.
a) (1,5) One of the schemes used is known as “buffer stocks”. Explain how this scheme works.

b) (1,25) What accounts for the instability these schemes attempt to solve.

8. (1,5) Trade between countries that form a customs union tends to increase sharply, leading to positive net effects on the welfare of each of them. However, those net positive effects tend to be at least partially offset by another effect. Which effect is this? Explain.
9. (1,75) In the context of Kemp’s model, consider the effect of trade on the real income of each of the two countries and on the real income of the two countries taken together.

a) The real income of the two countries taken together rises. Why?

b) The real income of one of the countries may rise, fall or remain unchanged. Why?

